
Math 1050 Final Exam Answer Key 

Winter 2019 

1. −𝟒√𝒙𝟐 + 𝟑 + (𝟒 − 𝝅)𝒙 + 𝟓𝒙𝒚 + 𝟐 ∙ 𝟖𝒙 

2. 
𝒚𝟕𝒛𝟏𝟓

𝟗𝒙𝟗
 

3. 30 + 20√2 

4. [−
5

3
,

1

3
] 

5. 
5

32
 

6. Noor studied 12 hours for algebra, 24 hours for chemistry and 16 hours for 

biology. 

7.  𝑐 =
𝒂𝒃 − 𝟏

𝒃 − 𝒂
 

8. (−∞, −𝟒) ∪ (−𝟒, 𝟐) ∪ (𝟐, ∞) 

9. 2 

10.  2𝑥 + ℎ − 3  

11.   𝒚 =  
𝟑

𝟓
𝒙 − 𝟏 

12.  𝑥2 + 2𝑥 − 3 

13.  {𝟏 ±  𝒊√𝟓} 

14.   Vertex (1, -12) opens up, y-intercept: (0,-9), x-intercepts: (-1,0) and (3,0) 

 

15.  −
𝟏

𝟐
 

16.  𝑥 = 1 



17.  (𝟐, ∞) 

 

18. a.) Domain: [−7, 0] ∪ (𝟐, 𝟕) 

 b.) Range: [−7, 7) 

 c.) 𝑓(−2) = −7 

 d.) 𝒙 ∈  {−𝟕, 𝟒}  

19.   {1, 2} 

20.   a.) −2    b.)  4      c.)  
1

3
   d.) −

1

4
 

21.   {5} 

22.   𝑐𝑜𝑠(𝝅) < 𝒔𝒊𝒏(−𝟑) < 𝒄𝒐𝒔(−𝟏)  < 𝐥𝐨𝐠𝟐(𝟓) 

23.   a.)  
𝜋2

10
 radians     b.) 1800° 

24.   a.) 
7

4
   b.) 

7

√65
 

25.  Matt’s walking speed is 2 mph. 

 


